P

1/0 do/d¢

Ratio to ALEPH

=
o
N

10

107t

1072

0.5

Rivet 3.1.10, = 3.2M events

133 GeV ee vy*/Z (Hadronic)
—| I I I | I I I | I I I |—
= Ln(Momentum Fraction) =
~  m  ALEPH 7]
-~ —A— Pythia 6.428 370 .
| --+-- Pythia 6.428 378 _
= Pythia 6.428 379 g Mgl s —.-zﬁn-}ﬁ&nﬂ =
- e Be O
B ﬁ/g%’ “KA |
N B N
u / |

A
2 m |
— i{ =
= + + + |+ v 4+ | ——
- A =
B AN N
: // \ A A :
A \ D‘& AN VY A A /gk“\l_g-i‘_&‘-f’%-gi\ w/ﬁ‘?‘s Z&L_;

B / X - ¢ ¢ S
— A _]
| 1 1 1 | 1 1 1 | 1 1 |
0 2 4 6

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


